mathrm a'N

mathrm d N / mathrm d meathrm d P,

mathrm d lambda

=
o
o

Ratio to CMS

=
N
o

(0]
o

(o))
o

N
o

N
o

p)

N

[EEY

0.5

13000 GeV pp Jets
e I B B O B B o
B T 0 ) 1 %
_ Groomed multiplicityA 0~ (CMS jet substructure) 13
- —=
. m CMS s
— —A— Pythia 6.428 370 N
- Pythia 6.428 default 12
[ —&— Pythia 8.308 default 5
3]
- .=
o |
- @
o™
— <
o™
B 1o
- 1O
™
L |
=
— —%
- 4 i
Q
— — <
| o
Q
- — U
o _|o
2 TE o
L M o
BT P T P TN R - T e = S !_E
— —2
1
a —0.5
| " 1 " 1 " 1 1 " | " 1 " 1 " 1 " 1 " | " 1 " |
0 50 100 150

groomed multiplicity



	Contents
	Page 1


